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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i) This question paper contains 34 questions. All questions are compulsory.

(it)  This question paper is divided into two parts — Part A and Part B.

(iti) Part A is compulsory for all candidates.

(iv) Part B has two options i.e. (1) Analysis of Financial Statements, and
(2) Computerised Accounting. Candidates must attempt only one of the given
options as per the subject opted in Part B.

(v) Questions no. 1 to 16 and 27 to 30 carry 1 mark each.

(vi)  Questions no. 17 to 20, 31 and 32 carry 3 marks each.

(vii) Questions no. 21, 22 and 33 carry 4 marks each.

(viii) Questions no. 23 to 26 and 34 carry 6 marks each.

(ix)  There is no overall choice. However, an internal choice has been provided in

7 questions of one mark, 2 questions of three marks, 1 question of four marks

and 2 questions of six marks.
PART A

(Accounting for Partnership Firms and Companies)

1. (1) Mehak and Ravish were partners in a firm. On dissolution of the
firm, the loan given by Mehak to the firm was ¥ 30,000, by Ravish
was ¥ 15,000, and by Mrs. Ravish was ¥ 10,000. The first
payment will be made for : 1

(a) Ravish’s loan

(b) Mehak’s loan

(c) Mrs. Ravish’s loan

(d) Mehak’s loan and Ravish’s loan in the ratio of their loan
amount

OR
(i1)  Surbhi and Leena were partners in a firm sharing profits and
losses in the ratio of 5 : 3. Ashi was admitted as a new partner for
i share in the profits of the firm. Ashi acquired % of her share

from Surbhi. From the following, how much share did Ashi acquire

from Leena : 1
1 3
(a) E (b) 2—0
2 3
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2. () GIem fafds 3 100 9% & 20,000, 11% OO bl HA
10% iftem s foma, St mem 5% Hiftem w fhar Sn 8 | Seoren
& fartea ot grfa @’ & 9 get ° @ < S

(a) ¥ 3,00,000
(b) T 2,00,000
¢/ ¥ 1,00,000
d) T 22,00,000
aroran
(i) RE fafds 3 M0 fAfide @ = 8,00,000 i ufErala=t &1 g T

ol T 2,00,000 I FAW A | PAHE T 100 TAH b 8% FITGHAN i
20% At R g e fohan smom | fifia fope S amer kTt

1 T gl
(a) 50,000
(b) 5,000
() 6,000
d  6,00,000
3. (@) TR o Hed TTeigil U™ ol Il o TR 7 |
(a) (b) IEY
(¢ wHsA (d) TR
Jrqa

(i) Toem™ S & st= A foue 31da § qiEadad o 99 91eieii
ISt @t § ‘F=R’ i FefaRaa omu § geaana fohan ST B

(a) I AUTd

(b)  ATUATH AU

(c) IUHT &A1Y TouTSH Ag9Td
(d) T Y foHSH I
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(i1)

1)

(i1)

Sunbeam Ltd. issued 20,000, 11% debentures of ¥ 100 each at a
premium of 10%, redeemable at a premium of 5%. The ‘Loss on
Issue of Debentures Account’ will debited by : 1

(a) ¥ 3,00,000
(b) T 2,00,000
(¢ ¥ 1,00,000
d T 22,00,000

OR

Nargis Ltd. purchased assets of ¥ 8,00,000 and took over liabilities
of ¥ 2,00,000 from Gauri Ltd. The payment was made by issue of
8% Debentures of ¥ 100 each at a premium of 20%. Number of

debentures issued will be : 1
(a) 50,000

(b) 5,000

(¢) 6,000

(d  6,00,000

is the basis of relationship between the partners to run the

partnership business. 1
(a)  Offer (b)  Agreement
(c) Understanding (d)  Acceptance

OR

At the time of change in profit sharing ratio among existing
partners, ‘Reserves’ are transferred to Partners’ Capital Accounts
in the following ratio : 1

(a)  Sacrificing ratio

(b)  Gaining ratio

(c) Old profit sharing ratio
(d)  New profit sharing ratio

-~~~ ~ Page 5 P.T.O.



4. (1) hYT qAT HOT Th B4 H HEER I 9T A BT I sIsR-STe
@ A | B % G A B GShd ed T 18,00,000 AT | BH
uftmrafat (e 1 8iget) T 20,00,000 9T T T 5,00,000 of |
3Tad AT o Yoirehtor fafer gro ®H s Il 1 e B0

(a) ¥ 2,00,000 (b) ¥ 3,00,000
) T 4,00,000 @ ¥ 3,50,000
AT

(i) o AT @ Th BH § HEGR o AT 3 : 2 AT H AT Sied o |
1 3199, 2021 1 3Tk IS @i § HE: T 1,50,000 T T 2,00,000
% Y I | AR Tor@ | HEGRE 6l IS W 10% ek & | ST
e o7 | 31 /=, 2022 I G9TH §C 9 H BH H T 10,000 h FTH
T | % ISl = B

(a) T 15,000 (b) T 9,000
(c) NG (d) T 6,000
5. S71YHYT (A) : HTEER o R T SIS hl WAl AH-EI @Td o 918 981 | <kl
Il 7 |

HR (R) : HIEM o 0T W SIS ATH & fovg TIR 2 |

STE AR (A) TAT HRU (R) & MR W F=faifgd & @ @&t fasheq o
W@ﬁlﬁ:

(a) ATHIT (A) Tl 8 YT RO (R) Teid 8 |
(b)  AHFAT (A) T & TAT FHROT (R) FLI 3 |
(c)  QHI AR (A) T R (R) T 7 |
(d) Tl ARTHY (A) TAT HRUT (R) Ted & |

6. () T 10% T W, 8 T 2 ufq 31 fergey w it fopa o B, oM
W T8 Ufd s (Nfem afga) =wm for 7w €
T 6 gfa ot (fiftem wfzgd) umm o fow o &, o1 7o = fom | et
ISt @Td o6 A 987 H @Al hl ST
(a) T 10 (b) T8

(c) T 12 (d) T6
AAAT
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4, (1) Keshav and Karan were partners in a firm sharing profits equally.
The capitalised value of average profits of the firm was
T 18,00,000. Assets of the firm were ¥ 20,00,000 (excluding
goodwill) and Liabilities were ¥ 5,00,000. The value of goodwill of
the firm by capitalisation of average profits method will be :
(a) ¥ 2,00,000 (b) ¥ 3,00,000
(c) < 4,00,000 (d < 3,50,000
OR
(i) A and B were partners in a firm sharing profits and losses in
the ratio of 3: 2. On 15t April, 2021 the balances in their capital
accounts were ¥ 1,50,000 and I 2,00,000 respectively. The
partnership deed provided that interest on partners capital will be
allowed @ 10% per annum. During the year ended 315t March,

2022, the firm incurred a loss of ¥ 10,000. Interest on A’s capital
will be : 1

(a) ¥ 15,000 (b) ¥ 9,000
(c) Nil (d ¥ 6,000

5. Assertion (A) : Interest on partners’ loan is debited to Profit and Loss
Account.

Reason (R): Interest on partners’ loan is a charge against profits.

On the basis of the above Assertion (A) and Reason (R), choose the correct
option from the following : 1

(a)  Assertion (A) is correct and Reason (R) is wrong.
(b)  Assertion (A) is wrong and Reason (R) is correct.
(c) Both Assertion (A) and Reason (R) are correct.
(d)  Both Assertion (A) and Reason (R) are wrong.

6. (1) A share of T 10 issued at a premium of ¥ 2 per share on which ¥
8 per share (including premium) have been called and ¥ 6 per
share (including premium) is received, is forfeited. Share Capital
Account will be debited by : 1

(@) <10 (b) T8

(c) T 12 d <6
OR

67/3/3 ~~~~ Page 7 P.T.O.



(ii) T 100 % Ush I 1, 5@ W T 70 IH = U 0 &, T 30 <t Afcw
ITEHAT ST YA T T o HRU, T R o1 | I8 —=Jan T 8 |/

3G 330 Sl YAIEG fohaT ST TehaT B, B 1
(a) T 70 (b) T 30
(c) T 100 (d) T 130

7.  Tospm dur gHa T BY T ARIGR o AT 2 : 1 U H ATH-EIH I fauTeH
Hd ¥ | Gl FHEISHI o qvETq fosRH 9T giHd i S shES: T 50,000 AT
T 40,000 o | I S H A A < Forw w7 wgER & w9
TawT fean | STaea ®H | ATl GSit R | ST g s TS goft ol Uiy off ¢ 7

(a) T 45,000
(b) T 30,000
) T 60,500
(d) T 90,000
8. TIem fafiee 3 T 100 IF & 4,000, 6% ForaHt =1 g T 95 Ul oo
T R | 6% FOMIT WTd & ST 98T H @i bl @l 1

(a) ¥ 3,80,000
(b) ¥ 4,40,000
(¢ ¥ 4,00,000
d T 20,000

1T HIeqi-e e8fa #1 9T o 399 & 78 o1 & STaR T 397 &1 9 97
10 % 3 T :
313, =% a9 oo ArEER € 991 2: 1: 2 U H 9§ 1 faueH
& | IhI gSft E: T 5,00,000, T 3,00,000 T T 2,00,000 off | 3F H
RETd ®Y W I8 ML &) fop el oft a9 o foen & oy 1 v @eft wreert
B 5% Tid T9 H @ H Yol T AN ¢ o 916 T 75,000 § HH T8 0T |
31 HT=, 2022 ! HH §T 9 1 AW T 2,00,000 o7 |
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(11) A share of T 100 on which ¥ 70 has been received is forfeited for
non-payment of final call of ¥ 30. The minimum price at which
this share can be re-issued is :

(@) T 70 (b) T30
(c) < 100 (d ¥ 130

Vikram and Sumit were partners in a firm sharing profits and losses in
the ratio of 2 : 1. The capitals of Vikram and Sumit after all adjustments
were ¥ 50,000 and ¥ 40,000 respectively. They admitted Jayant as a
partner for % share in the profits of the firm. Jayant brought
proportionate capital in the firm. The amount of capital brought in by

Jayant was :

(a) T 45,000
(b) ¥ 30,000
(¢) T 60,500
(d ¥ 90,000

Sunbeam Limited issued 4,000, 6% Debentures of ¥ 100 each at ¥ 95 per
debenture. 6% Debentures account will be credited by :

(a) ¥ 3,80,000
(b) ¥ 4,40,000
(c) < 4,00,000
(d ¥ 20,000

Read the following hypothetical situation and answer questions number

9 and 10 on the basis of information given :

67/3/3 ~~~~ Page 9 P.T.O.

Anu, Charu and Divya are partners sharing profits and losses in the ratio
of 2 : 1: 2. Their capitals were ¥ 5,00,000, ¥ 3,00,000 and ¥ 2,00,000
respectively. Anu personally guaranteed that in any year, Divya’s share
of profit after allowing interest on capital to all partners @ 5% p.a.
would not be less than ¥ 75,000. The profit for the year ending
315t March, 2022 amounted to ¥ 2,00,000.



10.

11.

12.

13.

fee <t TR K ufyr Feafafag awa 9 2
(a) ¥ 75,000

(b) T 5,000

(¢ ¥ 15,000

d ¥ 20,000

TR Y TR T GHRISH & qv=rd Geiell & oie fovfsa & S aref
Jfam @y <h Ui ?Pﬁ :

(a) 31 T 50,000; T T 25,000; TGeaT T 75,000

(b) 31 T 55,000; I T 30,000; TE=AT T 65,000

(c) 31 T 57,000; 9 T 28,000; TEeaT T 65,000

(d) 31 T 45,000; I T 30,000; =T T 75,000

AT, ST qAT oG HISIGR & A1 5 : 4 : 3 o A H ATH-EIH dled @ |
1 379, 2022 %I FM HATHGT & T4 | AT qAT Mo 5 38 T 1,20,000 H1
YA ich AT H 3 AT T 56 L o= | T 80,000 T YA TMITA qqT
T 40,000 T JTaH Mg o fopam | Afrery euma gmm

(a) 5:3 (b) 4:3

(c) 1:1 d 2:1

TS ®H i 3t faffsa 96 = 3,00,000 8 | FEEE i HN TR
20% & TUT ®H W AEd AW T 80,000 & | ISl b YSfeRor fafa g
Tfd 1 g B

(a) ¥ 8,00,000 (b) T 1,00,000
) ¥ 2,00,000 (d T 6,00,000

Sired fafidg 9 = 100 I & 50 A0 1 70T R o= ’vm = 30 wfa 31w
<l 3MEed Uiy (T 10 afa 3191 fifem gfga) 9o < 30 gfa 311 6 veom I
Tfsr e & g8 ot | T 20 Wi 3w A fgd qun Sifam A A/ @ TS e |
3T 3T b BLOT W ‘3T O WA o 9T 98T § Wil hl S areft TisT gt
(a) < 2,500 (b) < 2,000

© % 5,000 d T 1,500

67/3/3 ~~~~ Page 10
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10.

11.

12.

13.

Divya’s amount of guarantee is short by the following amount : 1
(a) ¥ 75,000

(b) ¥ 5,000

(c) T 15,000

(d ¥ 20,000

The final amount of profit distributed among the partners after

adjustment of guaranteed amount will be : 1
(a) Anu T 50,000; Charu ¥ 25,000; Divya ¥ 75,000

(b)  Anu T 55,000; Charu ¥ 30,000; Divya ¥ 65,000
(c) Anu T 57,000; Charu ¥ 28,000; Divya ¥ 65,000
(d) Anu ¥ 45,000; Charu ¥ 30,000; Divya ¥ 75,000

Gopal, Krishna and Govind are partners sharing profits and losses in the
ratio of 5 : 4 : 3. Krishna retired on 15 April, 2022. Gopal and Govind
purchased her share of profit by giving her ¥ 1,20,000, ¥ 80,000 being

paid by Gopal and ¥ 40,000 by Govind. The gaining ratio will be : 1
(@ 5:3 b) 4:3
(c) 1:1 (d) 2:1

Average capital employed in a firm is ¥ 3,00,000. The normal rate of
return in the business is 20% and the firm’s average profits are ¥ 80,000.

Value of goodwill by capitalisation of super profits method is : 1
(a) < 8,00,000 (b) ¥ 1,00,000
(c) T 2,00,000 (d < 6,00,000

Jeevan Ltd. forfeited 50 shares of ¥ 100 each on which allotment money
of ¥ 30 per share (including premium of ¥ 10 per share) and first call of
T 30 per share was not received. The second and final call of ¥ 20 per
share was not yet made. The amount credited to ‘Share Forfeiture

Account’ on forfeiture of these shares will be : 1
(a) T 2,500 (b) ¥ 2,000
(c) T 5,000 (d ¢ 1,500

617/3/3 ~a~~ Page 11 P.T.O.
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14. ITf=d YSH 1 98 AW 8 SSYRehl § aad § YT K o T 7, seardl

2
(a)
(c)

it g (b) 3ifires o
fofirar it (d)  gehar St

15. dfc Y faamsl & A | @EieR g Ueh (fvad TR &1 31mstn fhan s 2,
A TR T TS oA TR TSR TR S I T0MET bl ST

(a)
(c)

4%%'%1%& b) 9HE % foru
6 TE & foru d) 3= S fou

16. WEHh qYUT Tgh TIHCR 9 AT Tcdsh h1 ot T 40,000 off | 3214 3fe bl @i
i % g % fore wd # we ¢ AR % 9 # yaw e | sk s Toh %

Y T T 80,000 A5 | 3T(C o T o AT HBH 1 ATH-BIH @1 99 98 §
T 10,000 T 3T €T TG AT | 3T o To=1 W HH <l @1l 1 Tt &

(a)
(c)

17. (%)

617/3/3

Z 2,50,000 (b) T 2,40,000
Z 2,30,000 (d) ¥ 4,00,000

T, B9 Q9T 09 FT8IER 9 a1 2: 1 : 19 314 B oY died o | T
3 yfd A8 T 3,000 9T §99 F Ufd AT T 4,000 1 SO fRAT |
TE W 6% AT <X T SIS RN T SAeT(eh HISERT Tl STE0T T
I < fowg & @9 o |

39 1 I TR T H I g, I I Yg HH 2 eRTH THRISH
glefee HIT |

AT

3TE AT S FT3GR o AT 3 : 2 UG H AW Sied o | Ik Gt
A T 50,000 9T T 30,000 off | ETEEH Hol@ H ISt W 6% AT
T Y B qAT 5% hl SIS <4 BT 9T 5% bl T 1,000 o FATHh I
S I YEEH AT | 1 I, 2021 I I 7 A h GR H Rl
gaEd o fodT BH 1 T 1,00,000 =1 k01 fean | 99 2021 — 22 § 3R
A T 26,800 ¥ |

31 ®=, 2022 ! GATH §T 9N % fu w1 g fafree
TR HISY |

~ Page 12




14. A portion of the called-up capital which has been actually received from

the shareholders is termed as : 1
(a)  Called-up capital (b) Subscribed capital
(c) Issued capital (d) Paid-up capital

15. If a fixed amount is withdrawn by a partner at the end of each quarter,
‘interest on drawings’ on the total amount withdrawn will be calculated

for : 1
(a) 4% months (b) 9 months
(¢) 6 months (d) 3 months

16. Mehak and Chehak were partners with capitals of ¥ 40,000 each. They
admitted Aadi as a new partner for % share in the profits of the firm.

Aadi brought ¥ 80,000 as his capital. On Aadi’s admission, the Profit and
Loss Account of the firm showed a debit balance of ¥ 10,000. Value of

goodwill of the firm on Aadi’s admission will be : 1
(a) < 2,50,000 (b) < 2,40,000
(c) T 2,30,000 (d) < 4,00,000

17. (a) Raman, Manan and Naman were partners sharing profit in the
ratio of 2 : 1 : 1. Raman withdrew ¥ 3,000 every month and Manan

withdrew ¥ 4,000 every month. Interest on drawings @ 6% p.a.
was charged whereas the partnership deed was silent about
interest on drawings.
Showing your working clearly, pass the necessary adjustment
entry to rectify the error. 3
OR

(b) Arun and Barun were partners sharing profits in the ratio of
3 : 2. Their capitals were ¥ 50,000 and ¥ 30,000 respectively.
Partnership deed provided for interest on capital @ 6% p.a. to Arun
and Barun and quarterly salary of ¥ 1,000 to Barun. Arun had
given a loan of ¥ 1,00,000 on 15t October, 2021 to the firm without
any agreement about interest. For the year 2021 — 22, the profits
earned were ¥ 26,800.
Prepare Profit and Loss Appropriation Account of the firm for the

year ended 315t March, 2022. 3
67/3/3 ~~~~ Page 13 P.T.O.
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18.

19.

20.

(%) uH s 3 T 100 T&F & 10,000, 8% T I 6% Fg T FifEa
TR | Tfsr &1 AW = TR § 9@ o ¢ T 60 3TMeET W aAT I
ameed | gt Tfsr fofereq w81 78 |
T TAfdE i qedehl H STadeh UsHM=T Jafsedr shifg |

T

(@) TUH HH 9 T 10 T3 o qUia: Im=d 4,000 31T, 9 W T 3 gfd
3191 Sl AT R 1 YA Tk o, &1 g o foran | s A

2,000 3791 %l O Iga T18,000 T IA:Fifea ot feam mam |
3T el o ofT STTawees UstHTH= Yfafseat hifer |

Fh, HAG U1 HGl Th HH H HEER & | IR TR Ot
HUS: T 5,00,000, T 10,00,000 TAT T 15,00,000 off | & 7o Tor ISt
AT W AN Fied & | BH TS I 31 HIE ol U JEdeh &g il @ |
30 THawR, 2021 I e hl TJ 8 5 | ATH H ek o WFT ohl AT U=
feufa foeor &1 fafy @ gy f fafy 9 fospa & oMgR W i @l |
a¥ 2020 — 21 1 fasha o1 @9 HEM: T 20,00,000 AT T 2,00,000 o7 |
1 3194, 2021 ¥ 30 f&arsw, 2021 9 faa T 6,00,000 T |

(i)  <hd%h Y S | <hl TUMAT HIfST |
(i)  TH H Sheeh o W o AEIeh shi TATH UsHH=T Tfafse hifu |

% qYUT @ T B U WEEN  qU1 3 : 2 % U H i o W % g |
nﬁwﬁﬁlm%%@wﬁﬁmﬁmwwﬁaﬁwq\sﬁaﬁmﬁ
%zooooomgéaﬁwﬁaﬁqsﬁéswﬁsarr&rﬁs W o SIS A71G
rﬁaﬁ%|mmﬁﬁm%ﬁwmmﬁﬁa®wﬁﬁ
YT o STIA H e & | At THREISE % 916 % a1 @ i Sl ShAS:
¥ 60,000 9AT T 45,000 3 |

% AT @ i 3 YSil I TUHT HIWT qAT 3TEwIh UoTean Tfafsedr i |
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19.

20.

(a) M Ltd. issued 10,000, 8% Debentures of ¥ 100 each at 6%
discount. The amount was payable as ¥ 60 on application and the
balance on allotment. All money was duly received.

Pass necessary journal entries in the books of M Ltd.

OR
(b) A company forfeited 4,000 shares of ¥ 10 each fully called-up, on
which application money of ¥ 3 each has been paid. Out of these,
2,000 shares were reissued as fully paid up for 18,000.

Pass necessary journal entries for above transactions.

Kanak, Kamal and Kanha are partners in a firm. Their fixed capitals
were I 5,00,000, ¥ 10,00,000 and ¥ 15,00,000 respectively. They share
profits in the ratio of their fixed capitals. Firm closes its books of
accounts on 315t March every year. Kanak died on 30th September, 2021.
Kanak’s share of profit till the date of death from the last Balance Sheet
date, was to be calculated on the basis of sales. Sales and Profit for the
year 2020 — 21 were I 20,00,000 and ¥ 2,00,000 respectively. Sales from
1st April, 2021 to 30tk September, 2021 were T 6,00,000.

(1) Calculate Kanak’s share of profit.

(ii))  Pass necessary journal entry to record Kanak’s share of profit.

A and B are partners in a firm sharing profits in the ratio of 3 : 2. C is
admitted into the firm for i share in profits. The total capital of the firm
1s agreed upon as ¥ 2,00,000 and C is to bring in cash equivalent to % of
this amount as his capital. The capitals of other partners are also to be
adjusted in the ratio of their respective share in profits. The capitals of A

and B after all adjustments are ¥ 60,000 and ¥ 45,000 respectively.

Calculate the new capitals of A and B and pass necessary journal entries.

3
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21. U9, wfd q =7 @R & qAT 5:3:2 % AUG H Y Sled o
31 9, 2022 w1 37ehT fefd foawor o ypr 4 o .

31 A=, 2022 ki I, i qAT T1e T Feafa feaon

- gﬁn e gﬁn
fafay @er 70,000 | fH qAT HaA 3,50,000
T T ] 20,000 | Tieh 3,00,000
ofiafa =me =1 R/ 20,000 | &TeR 2.00,000
i T 9@ 10,000 | 1,90,000
o 4,00,000 ETS 70,000
id 3,00,000
e 1,00,000 | 8,00,000
9,10,000 9,10,000
ST fafar o1 wd o1 foere & m |

(i)  9f T 9aA TF Wih I T 6,00,000 H o= T T | SRR | T
Tod H 10% A ! THA 53 |

(i)  #ffd =g o T 1 HUEH I8 T 22,000 T Th HFIY R TRAT T
fT&ehT i@ g&aehi | a1 o |

(ii)) T T T 30,000 F TR & TH =R HT F9TH 3 T 20,000 T JTAH

HTeh Toha |
(iv) I oFERi sl Tohg A L fem T |
I @I dIR HIT |

22. 1 31U, 2021 i favamm fafies &1 T T 10 % & 1,00,000 FHAT A;M T
fawe = 10,00,000 it 1freha IS o @1y foRam w1 U T 90,000 FEAT
39N o e & forw stees faeforent gro smmfEa feru | o =51 85,000 THaT
3191 % TQ 3Teed 9T JY | 3,000 37T % €&k, WM 4 T 2 Wid 372 hi 92H
AT SAfH AT BT YA T (b1 | 3ok 3790 T g7 S fofam T |
Sl sAffEm, 2013 & FHES I, 9 I o IR A9 ISP Bl S &
feurfe foreor o quiist | @ & & & o7 @l & Aew oft dar fifve |
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21. Ravi, Kavi and Chand were partners sharing profits in the ratio of
5:3:2. On 315t March, 2022, their Balance Sheet was as follows :
Balance Sheet of Ravi, Kavi and Chand as on 315t March, 2022
A A
Liabilities mOUNt | Assets mount
Sundry Creditors 70,000 | Land and Building 3,50,000
Chand’s Loan 20,000 | Stock 3,00,000
Mrs. Chand’s Loan 20,000 | Debtors 2,00,000
Capitals : Less provision 10,000 | 190,000
Ravi 4,00,000 Cash 70,000
Kavi 3,00,000
Chand 1,00,000 | 8,00,000
9,10,000 9,10,000
The firm was dissolved on the above date.
(1) Land and Building and Stock were sold for ¥ 6,00,000. Debtors
were realised at 10% less than the book value.
(i1))  Mrs. Chand’s loan was settled by giving her a computer of ¥ 22,000
not recorded in the books.
(iii) Ravi paid off one of the creditors ¥ 20,000 in settlement of his
amount of T 30,000.
(iv) Remaining creditors were paid in cash.
Prepare Realisation Account.

22. On 15 April, 2021, Vishwas Ltd. was formed with an authorised capital

of ¥ 10,00,000 divided into 1,00,000 equity shares of ¥ 10 each. The
company issued a prospectus inviting applications for 90,000 equity
shares. The company received applications for 85,000 equity shares.
Shyam, holding 3,000 shares, did not pay the first and final call of ¥ 2
per share. His shares were forfeited.
Present the ‘Share Capital’ in the Balance Sheet of the Company as per
Schedule III, Part I of the Companies Act, 2013. Also prepare ‘Notes to
Accounts’ for the same.
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23. qUI, MM qAT K(Yh! Th ®H H TEGER 4 aA 2 : 2 : 1 % AW H
Y- sfed & | 31 9T, 2022 1 37ehT Tt faewor e yopr & o

31 AT, 2022 T T, I AT T T el feawor

ESilE PP Rl 5,00,000
qw 3,00,000 wih 1,00,000
SIEN 2,00,000
EaiEa) 1,00,000 |  6,00,000 Gl 00,000
A = 50,000 | Sk H Tehg 40,000
TER 50,000
7,00,000 7,00,000

31 IS, 2022 I T ! g & T8 | HIBCH] Ti@ o IR Jdh HIEGR *

fsarees f & gheR 9

(i)  HTEER % 9ot @ § 9y |

(i) ¥ 15,000 HTRS I |

(i) Tafa & 9w et T fUse dF awt % oftea @i % g O %
SATYR T <hl ST |

(iv) Tooc T@mhd 9y hl TuTe & g <l fafy a6 @i § 9 fEeht 1o
o 9 & @Y & Mg W I I@i | 2019 — 20, 2020 — 21 qAT
2021 — 22 &9 A T 1,00,000, T 2,00,000 99T T 1,50,000 & |

(v) g9 d 19, 2022 hl A9 SARKTT ITAT & T T 20,000 T T
fepa |

3 R I T H U §C IHeh HITGehi I F&gd H &g U1 T Yot
QT IR i |
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23. Trisha, Anisha and Rishika were partners in a firm sharing profits and
losses in the ratio of 2 : 2 : 1. Their Balance Sheet as at 315t March, 2022

was as follows :

Balance Sheet of Trisha, Anisha and Rishika as at 315t March, 2022

A t A t
Liabilities m;un Assets m;un
Capitals : Plant and Machinery 5,00,000
Trisha 3,00,000 Stock 1,00,000
Anisha 2,00,000
Debt 60,000
Rishika  1,00,000 | 6,00,000 | 00 ’
General Reserve 50,000 Cash at Bank 40,000
Creditors 50,000
7,00,000 7,00,000

Trisha died on 315t July, 2022. According to the partnership deed, the

executors of the deceased partner were entitled to :

(1) Balance in partner’s capital account.

(ii))  Salary @ ¥ 15,000 per quarter.

(iii)  Share of goodwill calculated on the basis of twice the average of past

three year’s profits.

(iv) Share of profits from the closure of the last accounting year
till the date of death on the basis of last year’s profit. Profit for
2019 — 20, 2020 — 21 and 2021 — 22 were < 1,00,000, ¥ 2,00,000
and ¥ 1,50,000 respectively.

(v)  Trisha withdrew ¥ 20,000 on 15t May, 2022 for her personal use.

Showing your working clearly, prepare Trisha’s Capital Account to be

rendered to her executors.

617/3/3
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24. (&)

617/3/3

Ared fafids 9 T 10 I % 80,000 THAT M I T 4 Iid I &+
fiftem X frifid ®@ & fou emae smf=a fee | ufyt =1 ymam =
Wﬁéﬁ%:

A& W — T 5 Ui W

AW W — T 9 Ui 1w (Hiftem wfzq)
1,40,000 31 % Y 3TEEH WH Y q1 Gl SATeGsh I IR
MR T AT L T T | A W 99 Afdfed R 1 qorIie—
e W ¢ TN A & foram | Tefla, fS&e 1,400 3 & faw
3Tere foham o, 3TTee AR 1 PIAH A T T8t TG | 3ok 3730 h1
&1 Y Tl T | 91 |, 39 g0 fohU 77T 37t i T 9 Wi o1 qui vew
g fifera o foam |
3T oAl o fau dred fafids i geaehl ® SAEwEeh Ul
gfafsat i |

HAUAT

e feafiide 9 T 10 T % 2,40,000 FHAT 37901 I T 4 Ufd 7
fiftem W i ®@ & O emaed smf= fee | ufyr @1 ymam =
Wﬁéﬁﬁ’ﬂ:

A W — T 4 9fd 31w (T 2 Hiftrem wfza)

M W — T 4 Ui 31

gom Ug 3fqy AT W — T 6 Ifd 19 (T 2 Hiftw afza)
3,00,000 379 % AU 3Telgd U8 gT qA1 G TEGH I ST
YR W M T A& HL T T | 3Tegd W gTH Afdfcs 2A19eq
TR 1 FHENH 3Teed W o TR # o o mn | aoft afer fafeeq
ITH B TS, U ol Bght S8 7,500 3720 o foTT 3maed femam o qer
St SATEeH AT YW T AfqH ATeFT 1 PIAH i § 310%d & |
ST el o T Sffod Tafiies i g&aehi H AEwdeh U=l
gfafsar HifST | S8l STavaes &1, 3T AT Qial qAq1 AH JreET Gl

Gifae |

~ Page 20




24, (a) Lotus Ltd. invited applications for issuing 80,000 equity shares of

T 10 each at a premium of ¥ 4 per share. The amount was payable

as follows :
On application — < 5 per share and
On allotment — T 9 per share (included premium).

Applications were received for 1,40,000 shares and allotment was
made to all applicants on pro-rata basis. Money overpaid on
applications was adjusted towards sums due on allotment. Rajiv,
who had applied for 1,400 shares, failed to pay the allotment
money. His shares were forfeited. Later on, these forfeited shares
were reissued at ¥ 9 per share as fully paid up.

Pass necessary journal entries for the above transactions in the
books of Lotus Ltd. 6

OR

(b)  Tulip Ltd. invited applications for issuing 2,40,000 equity shares of
T 10 each at a premium of ¥ 4 per share. The amount was payable
as under :

On application — T 4 per share (including premium ¥ 2)

On allotment — < 4 per share

On first and final call — ¥ 6 per share (including premium < 2)
Applications for 3,00,000 shares were received and pro-rata
allotment was made to all the applicants. Excess application
money received with applications was adjusted towards sums due
on allotment. All moneys were duly received except from Rohini
who had applied for 7,500 shares, and failed to pay allotment and
first and final call.
Pass the necessary journal entries for the above transactions in the
books of Tulip Ltd. Open Calls-in-arrears and Calls-in-advance

account, wherever necessary. 6
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25. ()

617/3/3

% qUT @ TIER, ST 3: 2% FIIUd § a9 dfed 9, &1 31 W, 2022

o1 Terfa foemor e g 3 o
31 HT=l, 2022 1 & qAT @ 1 Featd feaor

TSR 30,000 | S H Tehg 20,000
a9 SaR-=gE =y 12,000 | TR 85,000
AT H= 25,000 | =21 Ir&9 5,000 80,000
gt ik 1,30,000
+ 1,60,000 IEERN] 60,000
c 1,40,000 | 3,00,000 | R 77,000
3,67,000 3,67,000
1 310, 2022 i 3@ A T % T & fofu 7 & ffafaa waf ©w

Teh 191 HTEICR o9 bl i foham -

() T R g * T T 1,00,000 TAT MG H U A H foC
T 50,000 Efa ftem e |

(ii) ¥ 2,000 T Th TEH T da= g T |

(iii) 7w =1 IR 7eF T 50,000 o |

(iv) T IeR, Fmeh! gaet =l god =01 & &9 ° ufeiiad s fea
T AT, ° Ui (9 ® T 12,000 T YA fRAT |

YHEATRA QAT AT HIEIER] % Yol WTd daR HI |

AT

N N N

Page 22



617/3/3

(a)

On 315t March, 2022 the Balance Sheet of partners A and B, who
were sharing profits in the ratio of 3 : 2 was as follows :

Balance Sheet of A and B as at 315t March, 2022

Liabilities Am;unt Assets Am;unt
Creditors 30,000 | Cash at Bank 20,000

Investment

Fluctuation Fund 12,000 | Debtors 85,000

Less
General Reserve 25,000 | provision 5,000 80,000
Capitals : Stock 1,30,000
A 1,60,000 Investments 60,000
B 1,40,000 | 3,00,000 | Furniture 77,000
3,67,000 3,67,000

On 18t April 2022, they decided to admit C as a new partner for

% share in the profits on the following terms :

(1) C brought ¥ 1,00,000 as his Capital and ¥ 50,000 as his

share of Premium for Goodwill.

(i1))  One month salary ¥ 2,000 was outstanding.

(i1i) The market value of investments was ¥ 50,000.

(iv) A debtor, whose dues were written off as bad debts, paid
T 12,000 in full settlement.

Prepare Revaluation Account and Partners’ Capital Accounts. 6

OR
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(@) far, Trar qon war T ®BH H GT9ER 9 97 2 0 2 : 1 % ITUE H
Y- &ed 9 | 31 |, 2022 i IR feafd faaor 9 g @

q1
31 HT™, 2022 Rl AT, AT qoat Hiar st fefa feeor
- qfr N qfr
T T
g o qeT Wed 4,80,000
At 2,00,000 IEERN 1,20,000
Tt 2,00,000
T TR 1,50,000
T 1,00,000 | 5,00,000
Y= T= 30,000 | -
’ PICPIE] 10,000 | 1,40,000
SR ALY 5,00,000 | i 1,20,000
S H Uhg 1,70,000
10,30,000 10,30,000

3o fafyr =, sifvar wd @ darfraa & 8 U I AEER 3 e
ST @A 1 FuiE foen | fEraiEl o QAT dem qIansti <h
gAHgRe R = weald s

(i)  H I BAd 1 eIAhd T 3,00,000 Toham 1 |

(i) 9" AT I HI T 1,23,000 TR AT |

(iii) §F@ FIT T 20,000 ¥ | TERT W Afgy =01t & folw 10% 1
TAGTd <h{{T T |

(iv) @l sl = g T 80,000 T TLd AW L feam T | A9
T 1 AT 38eh RO @I H L fean T foweht gaE
SR 1Sk fohvdl § 10% aTi¥eh e ¥ I Higd fomam Sima |
AT & HATHEd 8 T I @Il aT FTEiERI o Yol @Td dIr
HIT |
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(b)

617/3/3

Anita, Geeta and Sita were partners in a firm sharing profits
and losses in the ratio of 2 : 2 : 1. Their Balance Sheet as at
315t March, 2022 was as follow :
Balance Sheet of Anita, Geeta and Sita as at 315t March, 2022

Amount Amount
Liabilities 2 | Assets e
Capitals : Land and Building 4,80,000
Anita 2,00,000 Investments 1,20,000
Geeta 2,00,000
Sita 100,000 | 5,00,000 | DePtors 150,000
Less
1
General Reserve 30,0001 b ovision 10,000 | 1,40,000
Creditors 5,00,000 | Stock 1,20,000
Cash at Bank 1,70,000
10,30,000 10,30,000

On the above date, Anita retired from the firm and the remaining
partners decided to carry on the business. It was agreed to revalue

the assets and reassess the liabilities as follows :

(1) Goodwill of the firm was valued at ¥ 3,00,000.

(ii) Land and Building was to be appreciated by ¥ 1,23,000.

(iii) Bad debts amounted to ¥ 20,000. A provision for doubtful
debts was to be maintained at 10% on debtors.

(iv) Anita was paid ¥ 80,000 immediately by cheque. The

balance amount was transferred to her loan account which
was to be paid in two equal annual instalments along with
interest @ 10% p.a.

Prepare Revaluation Account and Partners’ Capital Accounts on

Anita’s retirement. 6
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26. (%) 1 3i¥«, 2022 # foa fafies 3 = 80,00,000 i wfemafan qen
T 10,00,000 T GIATSA T 9RA WIS & T 72,00,000 3 T oI T
srfenrger foham | T 10,00,000 T YTAH 9Rd faAfads & vt d s dh
e frifia s fobam I, T 8,00,000 w1 YaW vRa fafies g
for@ U we fafme-us i iR Htek fohan T, TRt Yae =R 18
M < 3 qAT IV RN 1 FIAE 11% FOGE Bl 10% dg | Fifa
e foham T |
ey fafidg I g&al § IUY® THeHl o (A ATEeTeh sl
gfafsear Shifsr |

(@) 1 1¥«, 2021 & fom fAfies 7 T 100 9@% & T 20,00,000, 9%
T 1 A 109% St w foman, e siem 5% Hiftem @@ e

ST 2 |
fomm fefires Y geaent A o o T Y stragerss Uskme=n gfafseat
it | 1+2=6
e
foreea - 1
(Ferfrar feraroni o1 fergerwon)

27. fr=afafgd 4 9 sH-a1 W Faw nfafafimt @ Uoe yoE @ gefta 787 8 1
(a) ¥ 25,000 I foquE-T= gfayfaai 1
(b) ¥ 2,80,000 I fH =1 fasha
(¢) ¥ 3,00,000 % fafr=m =1 fasha
(d) T 1,00,000 % TIF HT

28. fy=feiflgd # & +19-9 THcAT o1 9o U T Uhg e Hl 3T=adig & : 1
(a) ¥ 80,000 h! AT =l HA=X T 75,000 H <=1 AT
(b) ¥ 5,00,000 % S=H I T FTHA
() ¥ 15,000 % AT oF 1 WIAH
(d) Tl gREsafE W T 11,000 1 Jeas™ YeH fham m
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26. (a) On 15t April, 2022, Smith Ltd. acquired assets of ¥ 80,00,000 from
Bharat Ltd. and took over its liabilities of ¥ 10,00,000 for a
purchase consideration of ¥ 72,00,000. ¥ 10,00,000 was paid by
issuing a bank draft in favour of Bharat Ltd., ¥ 8,00,000 by
accepting a Bill of Exchange drawn upon them by Bharat Ltd.
payable after four months and the balance by issuing
11% debentures at a discount of 10%.

Pass the necessary journal entries for the above transactions in the
books of Smith Ltd.

(b)  On 15t April, 2021, Bingo Ltd. issued ¥ 20,00,000, 9% debentures
of ¥ 100 each at a premium of 10%, redeemable at a premium of

5%. Pass the necessary journal entries for issue of debentures in

the books of Bingo Ltd. 4+2=6

PART B
OPTION -1
(Analysis of Financial Statements)

27. Which of the following transactions is not related to cash flows from
investing activities : 1
(a) Purchase of marketable securities ¥ 25,000
(b) Sale of land ¥ 2,80,000
(c) Sale of investments ¥ 3,00,000
(d)  Purchase of equipment ¥ 1,00,000

28. Which of the following transactions would result in inflow of cash and
cash equivalents : 1
(a) Furniture costing ¥ 80,000 sold for ¥ 75,000
(b)  Issue of bonus shares ¥ 5,00,000
(c) Payment to trade payables ¥ 15,000
(d)  Provided depreciation on fixed assets ¥ 11,000
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29.

30.

617/3/3

(1)

(i1)

(1)

(i1)

Teh I T RU-GHAT 3 2 : 1 7 | FAfafgd § & F-81 o9
SROT-FHAT 3T ol TS ?
(a) ¥ 1,00,000 % 37 1 fEA
(b) T 4,00,000, 9% OIS T FHTHT
(c) ¥ 3,00,000 % SE 30 1 0
(d) T 50,000 % TGN I WIAH
Tt

31 W=, 2022 % GWH BT 99 H gl fafide 4 = @ W @
< 15,00,000 T g 9 ARG fFam | FHEE H T 50,00,000 FT TH
10% ErEehTetE 0T o1 | T & 40% & | HFIH] 1 SATS ST I

B

(a) 27T
(b) 37T
() 127
(d)  1-57

frefefaa & @ sH-a1 ‘@rvvear s 787 %
(a)  "ohdd ATH 3UTd

(b) e |y

(c) FAIHeE UM

(d)  I=Ad AITd
AYAT
frafafea 8 & A Toxfia faawon 1 fovemor &1 v a@1eq 7
(2)  Uehg FaTg foaw
(b)  WTHETH ferawon
(c) Tedfq foawon
(d  (2) 9 (b) S
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(1)

(i1)

(1)

(i1)

The Debt-Equity Ratio of a company is 2 : 1. Which of the following

transactions will increase the Debt-Equity Ratio ? 1
(a)  Issue of shares ¥ 1,00,000

(b) Issue of 9% debentures ¥ 4,00,000
(c) Issue of bonus shares T 3,00,000
(d) Payment of creditors ¥ 50,000

OR

During the year ended 315t March, 2022, Shradha Ltd. earned net
profit of ¥ 15,00,000 before interest and tax. The company has a
10% long term debt of ¥ 50,00,000. The tax rate is 40%. The

Interest Coverage Ratio of the company will be : 1
(a) 2 times

(b) 3 times

(c) 1-2 times

(d)  1-5times

Which of the following is not a ‘Profitability Ratio’ : 1
(a)  Gross Profit Ratio
(b)  Return on Investment
(c) Proprietary Ratio
(d)  Operating Ratio
OR

Which of the following is a tool of ‘Analysis of Financial
Statements’ : 1

(a)  Cash Flow Statement

(b)  Statement of Profit and Loss
(¢c)  Balance Sheet

(d)  Both (a) and (b)

~a~~ Page 29 P.T.O.



32.

33.

617/3/3

HU Afaf=m, 2013 i ST 111, 91T I o AR Hul hl HHfIRaa Agi
i feafd faato o g wfiveni dum 3u-sfiveni (A7 HIE &) % T<HId afishd
Hif -

O ICSICE RS L]

Gi) 310 9" A=
(i) Gau AR

‘Tz T wH & Rafq faawer wg awE faaer 6 fofte wer & e gey
Teorifia ot forete gggar wd ikt w1 gg=e Al § )

gfsean 1 ugEE KT qur Iwe A TS ufeEr % @ SRwE a1 3g@
HIT |

(%) FERTRED o1 8 Tl ATH FIUTT hl VAT HIT

3Ea gt (W) T 1,60,000; o=l 3AEd 3 8 THT; 3ited

S I T 2,00,000; ARG YT 3ad AT 6 AT a1 TG

foshal e Tarsha T 25% |

AASAT

(@) fmfciRea o1 @ SRiEfia 4Sf 3Ed STdTd i 70T it
ot eit T 1,00,000
T TN T 80,000
Tl § 3TH AN T 3,20,000

Hehed ATH AUTd 20%
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31. Classify the following items under major heads and sub-heads (if any) in

the Balance Sheet of a company as per Schedule III, Part I of the
Companies Act, 2013 :

1)
(i)

(iii)

Public Deposits
Income received in advance

Loose Tools

32. ‘It is a process of identifying the financial strengths and weaknesses of

the firm by properly establishing relationships between the various items

of the Balance Sheet and the Statement of Profit and Loss.’

Identify the process and state two objectives of the process identified

above.

33. (a)

617/3/3

(b)

Calculate Gross Profit Ratio from the following information :

Average Inventory ¥ 1,60,000; Inventory Turnover Ratio 8 times,

Average Trade Receivables ¥ 2,00,000; Trade Receivables
Turnover Ratio 6 times and Cash Sales 25% of Total Sales.

OR

From the following information, calculate Working Capital

Turnover Ratio :
Capital Employed < 1,00,000
Non-Current Assets < 80,000

Cost of Revenue from Operations < 3,20,000

Gross Profit Ratio 20%
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34. T Frcufer A *I IfeU T 30 IMYR WV T 7 y97 &1 I NN
Fep-gA3feA Fem ¥ ARG B ASIE A ‘HWg i wErEt % w0 o
2016 U ®: A Yadehl o 1Y HAYAT Toh FIT SFIHR I foram | sFo)
AR 3T=ST AN 3T L Tl 8 | 31 7, 2022 i 3eie fafies i foxfia
feafa fr=1 g oft -

31 Wi, 2022 i 3eTe forfie e =t feorfa feremon
P dle | 31.3.2022 | 31.3.2021
g. T T
I - AT 9T IIAT0 :
1.  swuwes fAfeat
(%) or= Sl 19,00,000 | 17,00,000
(@) v g Ao 1 6,00,000 |  3,00,000
2. oT9c gIAm
SeferTefi 3aR 2 5,00,000 |  4,00,000
3.  =Te] Tamd
() IR IUN 1,70,000 |  1,75,000
(@) TehIA JTaY™ 4 2,00,000 | 1,65,000
3l 33,70,000 | 27,40,000
II - gt :
1.  3rud yiEm it
(%) wrf it
(i) 7o aiEe et 5 24,00,000 | 19,00,000
(i) A FHETIT 6 4,00,000 |  3,00,000
(@) o= few 1,00,000 |  2,00,000
9. el ufEsatat
(%) = faw 1,40,000 | 1,70,000
(@) i (ATcTE=I) 2,60,000 | 1,30,000
(M)  TUhS T Uehg oo 70,000 40,000
ESd 33,70,000 | 27,40,000
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34. Read the following hypothetical text and answer the given question on
this basis :
Azad, inspired by ‘Make-in-India’ mission, initiated his start-up in the
form of a company ‘Azad Ltd.” along with six other promoters in 2016.
The company has been earning good revenue consistently. The financial
position of Azad Ltd. as at 315t March, 2022 was as follows :
Balance Sheet of Azad Ltd. as at 315t March, 2022
Particulars Note | 31.3.2022 | 31.3.2021
No. T 3
I - Equity and Liabilities :
1. Shareholders’ Funds
(a) Share Capital 19,00,000 | 17,00,000
(b) Reserves and Surplus 1 6,00,000 3,00,000
2. Non-Current Liabilities
Long-term Borrowings 2 5,00,000 4,00,000
3. Current Liabilities
(a) Short-term Borrowings 1,70,000 1,75,000
(b) Short-term Provisions 4 2,00,000 1,65,000
Total 33,70,000 | 27,40,000
IT - Assets :
1. Non-Current Assets
(a) Fixed Assets
(i) Tangible Assets 5 24,00,000 | 19,00,000
(i) Intangible Assets 6 4,00,000 3,00,000
(b) Non-current Investments 1,00,000 2,00,000
2. Current Assets
(a) Current Investments 1,40,000 1,70,000
(b) Inventories 2,60,000 1,30,000
(¢) Cash and Cash
Equivalents 70,000 40,000
Total 33,70,000 | 27,40,000
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Qrdi o e
e 31.3.2022 | 31.3.2021
8. T z
(1) | H= wE e (i 3teiq 6,00,000 |  3,00,000

-1 forawor =1 3w)
(2) | reepeE 39N

12% T 5,00,000 | 4,00,000
(3) | TTIhIAA IUR

s srferfeaed 1,70,000 | 1,75,000
(4) | TR JraE™

ESRIERIE 2,00,000 | 1,65,000
(5) | qd ufcemfi

TSfe 26,00,000 | 20,00,000

BT Tehiod HeasTd (2,00,000) | (1,00,000)

24,00,000 | 19,00,000

6) | Mg aiEEfaat

=Tt 4,00,000 |  3,00,000
TR FT

1)

(i1)

Z 10,000 < ITYATH T &=7 T |

Z 1,00,000, 12% ROT9ET &1 AT 1 379, 2021 i fomam T |

T 80,000 AT <h! Teh AT =i, & W TG Feag@ T 40,000

“Traw nfafafir’ qen foxfim nfafafemt’ & Uswe yatg i oMt Hiflv |
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Notes to Accounts :

Note 31.3.2022 | 31.3.2021
No. = >
(1) Reserves and Surplus 6,00,000 3,00,000

(Surplus i.e. Balance in Statement

of Profit and Loss)
(2) Long-term Borrowings

12% Debentures 5,00,000 4,00,000
(3) Short-term Borrowings

Bank Overdraft 1,70,000 1,75,000
(4) Short-term Provisions

Provision for Tax 2,00,000 1,65,000
(5) Tangible Assets

Machinery 26,00,000 | 20,00,000

Less Accumulated Depreciation (2,00,000) | (1,00,000)

24,00,000 | 19,00,000

(6) Intangible Assets

Goodwill 4,00,000 3,00,000

Additional Information :

(i) T 1,00,000, 12% Debentures were issued on 15t April, 2021.

(ii)) A piece of machinery costing ¥ 80,000 on which accumulated
depreciation was ¥ 40,000, was sold at a gain of ¥ 10,000.

Calculate cash flows from ‘Investing Activities’ and ‘Financing Activities’. 6
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PART B
OPTION -11
(Computerised Accounting)

27. How many logical values can be entered into a logical function ? 1
(a) 255 (b) 127
(c) 31 d 15

28. (1) From the following a legend can be repositioned on a chart : 1

(i1)

29. (@)

(i1)

617/3/3

(a)  On the corner only

(b)  Anywhere

(c) On right-side only

(d)  On the bottom of x-axis

OR

Which of the following are the five pillars of computerised
accounting system : 1
(a) Data, Report, Ledger, Hardware, Software

(b) Data, People, Procedure, Hardware, Software

(c) People, Procedure, Ledger, Data, Chart of Accounts

(d) Data, Coding, Procedure, Rules, Output

Absence of data items is represented by one of the special values

from the following i.e. : 1
(a)  Single value (b)  Stored value
(c) Multi value (d)  Null value

OR
The process of comparing input data with some unknown data is
called : 1
(a)  Storage data (b)  Information data
(c) Data entry (d) Data validation
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31.

32.

33.

34.

From the following, identify the Accounting information sub-system

which deals with payment of wages and salaries to employees :
(a) Tax accounting sub-system

(b)  Expense accounting sub-system

(c) Cost accounting sub-system

(d)  Payroll accounting sub-system

Differentiate between ‘Generic software’ and ‘Specific software’ on any

three bases.

Explain the following two features of Computerised Accounting System :
(1) Simple and integrated

(i1)  Accuracy and speed

Explain the accounting group of ‘Current Liabilities’.
OR

Give the meaning of the terms (i) Labels, and (ii) Values as used in

spreadsheets.

Name the financial function which returns accrued interest on a bond
with 5% coupon rate and where issue and settlement date of investment

is also given. Also explain its syntax.
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STRICTLY CONFIDENTIAL: (FOR INTERNAL AND RESTRICTED USE ONLY)
SENIOR SCHOOL CERTIFICATE EXAMINATION 2023
MARKING SCHEME — ACCOUNTANCY (SUBJECT CODE—055)
(PAPER CODE—67/3/3)

General Instructions:

1 You are aware that evaluation is the most important process in the actual and correct assessment of the
candidates. A small mistake in evaluation may lead to serious problems which may affect the future of
the candidates, education system and teaching profession. To avoid mistakes, it is requested that before
starting evaluation, you must read and understand the spot evaluation guidelines carefully

2 “Evaluation policy is a confidential policy as it is related to the confidentiality of the examinations
conducted, Evaluation done and several other aspects. Its’ leakage to public in any manner could
lead to derailment of the examination system and affect the life and future of millions of
candidates. Sharing this policy/document to anyone, publishing in any magazine and printing in
News Paper/Website etc may invite action under various rules of the Board and IPC.”

3 Evaluation is to be done as per instructions provided in the Marking Scheme. It should not be done
according to one’s own interpretation or any other consideration. Marking Scheme should be strictly
adhered to and religiously followed. However, while evaluating, answers which are based on latest
information or knowledge and/or are innovative, they may be assessed for their correctness
otherwise and due marks be awarded to them.

4 The Marking scheme carries only suggested value points for the answers.These are in the nature of
Guidelines only and do not constitute the complete answer. The students can have their own expression
and if the expression is correct, the due marks should be awarded accordingly.

5 The Head-Examiner must go through the first five answer books evaluated by each evaluator on the first
day, to ensure that evaluation has been carried out as per the instructions given in the Marking Scheme.
If there is any variation, the same should be zero after deliberation and discussion. The remaining
answer books meant for evaluation shall be given only after ensuring that there is no significant
variation in the marking of individual evaluators

6 Evaluators will mark( V) wherever answer is correct. For wrong answer CROSS X’ be marked.
Evaluators will not put right (v)while evaluating which gives an impression that answer is correct and
no marks are awarded. This is most common mistake which evaluators are committing.

7 If a question has parts, please award marks on the right-hand side for each part. Marks awarded for
different parts of the question should then be totaled up and written in the left-hand margin and
encircled. This may be followed strictly

8 Ifa question does not have any parts, marks must be awarded in the left-hand margin and encircled. This
may also be followed strictly

9 If a student has attempted an extra question, answer of the question deserving more marks should be
retained and the other answer scored out with a note “Extra Question”.

10 No marks to be deducted for the cumulative effect of an error. It should be penalized only once.

11 A full scale of marks 80 has to be used. Please do not hesitate to award full marks if the answer deserves
it.



12

13

14

15

16

17

18

Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours every day and
evaluate 20 answer books per day in main subjects and 25 answer books per day in other subjects
(Details are given in Spot Guidelines)

Ensure that you do not make the following common types of errors committed by the Examiner in the
past:-

Leaving answer or part thereof unassessed in an answer book.

Leaving answer or part thereof unassessed in an answer book.

Wrong totaling of marks awarded on an answer.

Wrong transfer of marks from the inside pages of the answer book to the title page.

Wrong question wise totaling on the title page.

Wrong totaling of marks of the two columns on the title page.

Wrong grand total.

Marks in words and figures not tallying/not same.

Wrong transfer of marks from the answer book to online award list.

Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is correctly and
clearly indicated. It should merely be a line. Same is with the X for incorrect answer.)

e Half or a part of answer marked correct and the rest as wrong, but no marks awarded.

While evaluating the answer books if the answer is found to be totally incorrect, it should be marked as
cross (X) and awarded zero (0) marks

Any un assessed portion, non-carrying over of marks to the title page, or totaling error detected by the
candidate shall damage the prestige of all the personnel engaged in the evaluation work as also of the
Board. Hence, in order to uphold the prestige of all concerned, it is again reiterated that the instructions
be followed meticulously and judiciously.

The Examiners should acquaint themselves with the guidelines given in the “Guidelines for spot
Evaluation” before starting the actual evaluation.

Every Examiner shall also ensure that all the answers are evaluated, marks carried over to the title page,
correctly totaled and written in figures and words.

The candidates are entitled to obtain photocopy of the Answer Book on request on payment of the
prescribed processing fee. All Examiners/Additional Head Examiners/Head Examiners are once again
reminded that they must ensure that evaluation is carried out strictly as per value points for each answer
as given in the Marking Scheme.



MARKING SCHEME
Senior School Certificate Examination, 2023
ACCOUNTANCY [ Paper Code — 67/3/3]

Marking Scheme 2022-23

Accountancy (055)
Marks
Expected Answers/ Value Points
PART A
(Accounting for Partnership Firms and Companies)
(i) Q. Mehak and Ravish were partners in .....
Ans. (¢) Mrs. Ravish’s loan 1 mark
(ii) Q. Surbhi and Leena were partners....
1 mark
Ans. (a) 1/10
(i) Q. Sunbeam Ltd. issued 20,000, 11%...
Ans. ( ¢) X1,00,000 1 mark
OR
OR
(ii) Q. Nargis Ltd. purchased assets of %8,00,000.......
1 mark
Ans. (b) 5,000
@) Q. is the basis of......
Ans. (b) Agreement 1 mark
OR
OR
(ii) Q. At the time of change in profit ......
1 mark
Ans. (c) Old profit-sharing ratio
(i) Q. Keshav and Karan were partners.....
1 mark

Ans. (b) % 3,00,000




OR OR
(i) Q. A and B were partners in a firm... 1 mark
Ans. (c) Nil
5 | Q. Assertion(A): Interest on partners loan is debited......
Ans. (c ) Both Assertion (A) and Reason (R) are correct. 1 mark
6 | (i) Q. A share of 10 issued at a premium......
Ans. (d) 26 1 mark
OR OR
(ii) Q. A share of ¥ 100 on which %70 has been....
1 mark
Ans. (b) 330
7 | Q. Vikram and Sumit were partners in a firm....
1 mark
Ans. (a) 345,000
8 | Q. Sunbeam Limited issued 4,000, .........
1 mark
Ans. ( ¢) %4,00,000
9 Q. Divya’s amount of guarantee is short.....
1 mark
Ans. (c) X15,000
10 | Q. The final amount of profit distributed...
1 mark
Ans. (d) Anu %45,000; Charu %30,000; Divya X75,000
11 Q. Gopal, Krishna and Govind are partners.....
1 mark
Ans. (d) 2:1
12 Q. Average capital employed in a firm......
1 mark
(b) X1,00,000
13 Q. Jeevan Ltd. forfeited 50 shares of 3100 each....
1 mark

Ans (d) 1,500
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Q. A portion of the called- up capital.....

1 mark
(d) Paid-up capital
15 Q. If a fixed amount is withdrawn by a partner....
1 mark
Ans (a) 4 /2 months
16 Q. Mehak and Chehak were partners....
1 mark
Ans (a) 32,50,000
17 | (a) Q. Raman, Manan and Naman were partners.....a
Ans.
Books of Raman, Manan and Naman
JOURNAL
Date Particulars LF Dr. Cr.
Amount Amount
® ®
Raman’s Capital A/c Dr. 180
Naman’s Capital A/c Dr. 630 @
To Manan’s Capital A/c 810
(Adjustment entry for Interest on Drawings
wrongly charged)
+
Working Notes:
Particulars Raman Manan Naman
4 4 4
Interest on Drawings , now credited 1,080 1,440 - Q)
Loss to be debited (2,520 in 2:1:1) (1,260) (630) (630)
Adjustment 180 Dr 810 Cr 630 Dr =
marks
(NOTE: Full credit be given if working notes are prepared in any other form)
OR

OR




(b) Q. Arun and Barun were partners sharing......

Ans. Profit & Loss Appropriation A/c
for the year ended on March 31, 2022
Dr Cr
Particulars Amount Particulars Amount
4 %
To Interest on Capital A/c ByP& L A/c 23,800
Arun -3,000 (%26,800-%3,000)
Barun-1,800 4,800
To Salary A/c
B —
arun 4,000 marks
To Profit transferred to
Partners’ Capital A/c:
Arun -9,000
Bamn—6,000 15’000
23.800 23.800
18 | (a) Q. M Ltd. issued 10,000, 8% Debentures.......
Ans.
Books of M Ltd.
JOURNAL
Date Particulars LF Dr. Cr.
Amount Amount
®) )
(®)
Bank A/c Dr. 6,00,000
To Debenture Application A/c 6,00,000 (%)
(Application money received on 10,000
8% Debentures)
+
(i)
Debenture Application A/c Dr. 6,00,000
To 8% Debentures A/c 6,00,000
(Debenture Application money 1)
transferred to 8% Debenture A/c)




(iii) 3,40,000
Debenture Allotment A/c Dr.
Discount / Loss on Issue of 60,000
Debentures A/c Dr. 4,00,000
To 8% Debenture A/c
(Allotment money due on 10,000 debentures)
(iv)
Bank A/c Dr. 3,40,000
To Debenture Allotment A/c 3,40,000
(Allotment money received)
OR
(b) Q. A company forfeited 4,000 shares......
Ans.
Books of ....
JOURNAL
Date | Particulars LF Dr. Cr.
Amount Amount
®) ®)
)
Share Capital A/c Dr. 40,000
To Share Forfeiture A/c 12,000
To Calls- in — Arrears A/c 28,000
(4,000 shares forfeited for non-payment of X7
per share)
(i1)
Bank A/c Dr. 18,000
Share Forfeiture A/c Dr. 2,000
To Share Capital A/c 20,000
(2,000 forfeited shares reissued)
(iii)
Share Forfeiture A/c Dr. 4,000
To Capital Reserve A/c 4,000

(Gain on reissue of shares transferred to
Capital Reserve)

0y

(72)

marks

OR

0y

0y

0y

marks




19

Q. Kanak, Kamal and Kanha are partners....

Ans. (i) Calculation of Kanak’s share of profit:

Profit for 6 months= 6,00,000 x 2,00,000/20,00,000 x 1/6

(2)
=310,000
Books of Kanak, Kamal and Kanha
_l’_
JOURNAL
Date Particulars LF | Dr. Amount | Cr. Amount
R®) R®)
2021 Profit & Loss Suspense A/c Dr. 10,000 ey
Sep 30 To Kanak’s Current A/c 10,000
(Kanak’s share of profit till date of death) =
3 marks
20 Q. A and B are partners....
Ans Solution:
Calculation of new capitals:
Total capital of the new firm= %2,00,000
A’s new capital = 9/20 of 32,00,000
=390,000
B’s new capital= 6/20 of 32,00,000 n
=360,000 (172)
Books of A and B
JOURNAL
Date Particulars LF Dr. Cr.
Amount Amount
£ Z
1)
Bank / Cash A/c Dr. 50,000
To C’s Capital A/c 50,000 (1/2)
(Cash brought in by C as his share of
capital)




+
(i1)
Bank / Cash A/c Dr. 30,000
To A’s Capital A/c 30,000 (1)
(Cash brought in by A for capital
adjustment)
+
(iii)
Bank A/c / Cash A/c Dr. 30,000
To B’s Capital A/c 30,000 1)
(Cash brought in by B for capital
adjustment)
marks
21 Q. Ravi, Kavi and Chand were partners sharing.....
Ans.
Dr Realisation A/c Cr
Particulars Amount Particulars Amount
3 3
To Land & Building Alc 3,50,000 | By Provision for Douftful
To Stock Alc () 3,00,000 | Debts Al 10,000
To Debtors A/c 2,00,000 | By Creditors A/c (f2) 70,000
By Mrs. Chand’s Loa 20,000
To Ravi’s Capital A/c (2) 20,000
To Cash A/c (15) 40,000 | By Cash A/e M
Land & Building
and stock 6,00,000
Debtors 1,80,000 7.80,000
By Loss transferred to
Partners’ Capital A/c: (1) =
Ravi 15,000 marks
Kavi 9,000
Chand 6,000
30,000
9,10,000 9,10,000
22 | Q. On 1* April, 2021, Vishwas Ltd. was formed with......




Ans.

VISHWAS LTD.
BALANCE SHEET
As at...
Particulars Note Amount
No. Fi
I Equity and Liabilities
1. Sharcholders Funds )
(a) Share Capital 1 8,44,000
Notes to Accounts:
Particulars Amount +
Ed
1. Share capital
Authorised Capital
1,00,000 equity shares of *10 each 10,00,000 (1)
J’_
Issued Capital
90,000 equity shares of 10 each 9,00,000 (D
J’_
Subscribed Capital
Subscribed & fully paid up (%2)
82,000 shares of 10 each 8,20,000
J’_
Add:Share Forfeiture 24,000 (172)
8.44.000 3
4
marks
23 | Q. Trisha, Anisha and Rishika were partners......
Ans.
Dr. Trisha’s Capital A/c Cr.
Particulars Amount Particulars Amount
4 4
To Drawings A/c 20,000 By Bal b/d 3,00,000
To Trisha’s Executor’s A/c 4,60,000 By General Reserve A/c 20,000
By Salary to Trisha 20,000

10




By Anisha’s Capital A/c 80,000
1
By Rishika’s Capital A/c 40,000 7 X8
By P&L Suspense A/c 20,000 )
4,80,000 4,80,000
Working Notes: +
1
()  Share of Profit= 1,50,000 x 4/12 x 2/5 =% 20,000 (2)
+
(i1) Goodwill of the Firm= 4,50,000/3 x 2 =% 3,00,000
(1)
Trisha’s share of Goodwill = 3,00,000 x 2/5 =% 1,20,000 +
(iii)  Salary to Trisha = 15,000 + 15,000/3 = ¥ 20,000 ()
marks
24 (a) Q. Lotus Ltd. invited applications for issuing.......
Ans. Books of Lotus Ltd.
JOURNAL
Date | Particulars LF Dr. Cr.
Amount Amount
®) )
®)
Bank A/c Dr 7,00,000 (%)
To Equity Share Application A /c 7,00,000
(Application money received on 1,40,000
shares) +
(i)
Equity Share Application A/c Dr 7.00.000
To Equity Share Capital A/c 4,00,000 @
To Equity Share Allotment A/c 3.00.000
(Application money transferred to Share
Capital and excess amount adjusted to Share
Allotment A/c) +
(iii)
Equity Share Allotment A/c Dr. 7,20,000 a
To Equity Share Capital A/c 4,00,000
To Securities Premium / Securities 3,20,000
Premium Reserve A/c N

(Share allotment money due at premium)

11




(iv)

Bank A/c Dr.

Calls- in- Arrears A/c Dr.
To Equity Share Allotment A/c

(Allotment money received except on 800
shares)

Alternatively
Bank A/c Dr.
To Equity Share Allotment A/c

(Allotment money received except on 800
shares)

v)
Equity Share Capital A/c Dr.
Securities Premium / Securities
Premium Reserve A/c Dr.
To Calls-in —Arrears A/c
To Share Forfeiture A/c

(800 shares forfeited for non- payment of
allotment money)

Alternatively
Equity Share Capital A/c Dr.
Securities Premium / Securities
Premium Reserve A/c Dr.
To Equity Share Allotment A/c
To Share Forfeiture A/c

(800 shares forfeited for non- payment of
allotment money)

(vi)
Bank A/c Dr.
Share Forfeiture A/c Dr.

To Equity Share Capital A/c
(Reissue of forfeited shares)

(vii)
Share Forfeiture A/c Dr.
To Capital Reserve A/c

(Gain on reissue of shares transferred to

4,15,800
4,200

4,15,800

8,000

3,200

8,000

3,200

7,200
800

6,200

4,20,000

4,15,800

4,200
7,000

4,200
7,000

8,000

6,200

0y

0y

0y

12




Capital Reserve)

OR
(b) Q. Tulip Ltd. invited applications for ......
Ans.
Books of Tulip Ltd.
JOURNAL
Date | Particulars LF Dr. Cr.
Amount Amount
®) ®
(1)
Bank A/c Dr. 12,00,000
To Equity Share Application A/c 12,00,000
(Application money received on 3,00,000
shares)
(i)
Equity Share Application A/c Dr. 12,00,000
To Equity Share Capital A/c 4,80,000
To Securities Premium A/c /
Securities Premium Reserve A/c 4,80,000
To Equity Share Allotment A/c 2.,40,000
(Application money transferred to Share
Capital and Securities Premium; excess
amount adjusted to Share Allotment A/c)
(i)
Equity Share Allotment A/c Dr. 9,60,000
To Equity Share Capital A/c 9,60,000
(Allotment money due on 2,40,000 shares)
(iv)
Bank A/c Dr
Calls- in Arrears A/c Dr 7,02,000
To Equity Share Allotment A/c 18,000
(Allotment money received) 7,20,000
V)
Equity Share First & Final Call A/c Dr
To Equity Share Capital A/c 14,40,000
9,60,000

To Securities Premium A/c /

marks

OR

(7))

(17%)

(72)

(17%)

(4))

13




Securities Premium Reserve A/c
(Share First & Final Call money due) 4,80,000 N
(vi)
Bank A/c Dr. 14,04,000 Q)
Calls- in- Arrears A/c Dr. 36,000
To Equity Share First & Final Call A/c 14,40,000
(Share first and final call money received
except on 6,000 shares
marks
25 | (a) On 31 March, 2022 the Balance Sheet of.......
Ans.
Dr. REVALUATION A/c Cr.
Particulars Amount Particulars Amount
4 4
To Outstanding Salaries A/c 2,000 | By Bad Debts Recovered
(%) Ale (%) 12,000 @
To Profit on Revaluation
transferred to Partners’
Capital A/c €] 10,000
A — 6,000
B —4,000
12,000 12,000 +
Dr. PARTNERS’ CAPITAL A/c Cr.
Particulars A B C Particulars A B C
4 £4 4 £4 4 4
To Bal ¢/d 2,12,200 | 1,74,800 | 1,00,000 | By Bal b/d 1,60,000 | 1,40,000 -
By General
Reserve A/c 15,000 10,000 -
By Investment
Fluctuation “)
Reserve A/c 1,200 800 -
]/2
By Premium for
Goodwill A/c
30,000 20,000 -
By Revaluation 6,000 4,000 B
Alc z
By Bank A/c ) - | 1,00,000 =
marks

14




2,12,200 1,74,800 1,00,000 2,12,200 1,74,800 1,00,000
OR
(b) Q. Anita, Geeta and Sita were partners in a firm.....
Ans.
Dr. REVALUATION A/e Cr.
Particulars Amount Particulars Amount
£4
To Bad Debts A/c Va 10,000 By Land & Building A/c 1,23,000
To Provision for Doubtful Vs
Debts A/c A 13,000
To Profit transferred to
Partners Capital A/c’s:
Vi)
Anita- 40,000
Geeta- 40,000 1,00,000
Sita- 20,000
1,23,000 1,23,000
Dr. PARTNERS’ CAPITAL A/c Cr.
Particulars Anita Geeta Sita Particulars Anita Geeta Sita
4 4 4 4 4 4
To Anita’s - 80,000 40,000 | By Bal b/d 2,00,000 | 2,00,000 | 1,00,000
Capital A/c
By General 12,000 12,000 6,000
To Bank A/c 80,000 - - | Reserve A/c
To Anita’s By Geeta’s
Loan A/c 2,92,000 - - | Capital A/c 80,000 - -
By Sita’s 40,000 - -
To Bal c¢/d - 1,72,000 86,000 | Capital A/c
By Revaluation
Alc 40,000 40,000 20,000
3,72,000 2,52,000 1,26,000 3,72,000 2,52,000 1,26,000

OR

()]

% x8

No
marks
for Bal
b/d

(C))

marks

26

(a) Q. On 1% April, 2022, Smith Ltd. acquired.....
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Ans.

Smith Ltd.
JOURNAL

Date

Particulars

LF

Dr. Amount

®

Cr. Amount

Q)

2022
Apr1

(®)
Sundry Assets A/c Dr.
Goodwill A/c Dr.
To Sundry Liabilities A/c
To Bharat Ltd

(Assets acquired and liabilities taken over from
Bharat Ltd)

(i)
Bharat Ltd Dr
To Bank A/c

(Purchase consideration partially settled by issuing a
bank draft)

(iii) Bharat Ltd Dr
To Bills Payable A/c

(Purchase consideration partially settled by
accepting a bill of exchange)

(iv) Bharat Ltd Dr
Discount / Loss on Issue of
Debentures A/c Dr
To 10% Debentures A/c

(Remaining Purchase consideration settled by
issuing a bank draft, accepting a bill of exchange and
issuing 11% debentures at discount)

Alternatively (for ((ii)+(iii)+(iv))
Bharat Ltd Dr
Discount / Loss on Issue of
Debentures A/c Dr
To Bank A/c
To Bills Payable A/c
To 10% Debentures A/c

(Purchase consideration settled by issuing a bank
draft, accepting a bill of exchange and issuing 11%
debentures at discount)

80,00,000
2,00,000

10,00,000

8,00,000

54,00,000
6,00,000

72,00,000

6,00,000

10,00,000
72,00,000

10,00,000

8,00,000

60,00,000

10,00,000
8,00,000
60,00,000

2

(72)

(%)

(M
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(b) On 1* April, 2021, Bingo Ltd. issued.......

+
Ans.
Books of Bingo Ltd.
JOURNAL
Date | Particulars LF Amount Amount
3 2
2021 | (i)
Apr1 | Bank A/c Dr. 22,00,000
To Debenture Application & 22,00,000
Allotment A/c (1)
(Application money received )
(i1) *
Debenture Application &
Allotment A/c Dr. 22,00,000
Loss on Issue of Debentures A/c  Dr. 1,00,000
To 9% Debentures A/c 20,00,000 (1)
To Securities Premium A/c /
Securities Premium Reserve A/c 2,00,000
To Premium on Redemption of 1,00,000
Debentures A/c
(Debentures issued at premium, redeemable at
a premium)
marks
PART B
OPTION 1
Analysis of Financial Statements
27 | Q. Which of the following transactions is not.....
1 mark
Ans. (a) Purchase of marketable securities 325,000
28 | Q. Which of the following transactions.....
1 mark
Ans. (a) Furniture costing 80,000 sold for 75,000
29 | (i) Q. The Debt- Equity Ratio of a company ........
1 mark

Ans (b) Issue of 9% Debentures 34,00,000
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OR

OR
(i))Q. During the year ended 31* March, 2022.....
Ans (b) 3 times 1 mark
30| (i) Q. Which of the following is not......
Ans. (c) Proprietary Ratio 1 mark
OR
(ii) Q. Which of the following is a tool.....
Ans. (a) Cash Flow Statement 1 mark
31 | Q. Classify the following items under major heads....
Ans.
Item Major head Sub head
(i) Public Deposits Non- Current Long term borrowings =%x6
Liabilities
(i1) Income received in Current Liabilities Other Current Liabilities =
advance marks
@iv) Loose Tools Current Assets Inventories
()
32 Q. ‘It is a process of identifying the financial strengths and weaknesses of the firm by
properly establishing relationships between the various items of the Balance Sheet and the
Statement of Profit and Loss.’
Identify the process and state two objectives of the process identified above.
Ans. Financial statement analysis (1)
J’_
Objectives of Financial statement analysis (any two):
(1) To assess the current profitability and operational efficiency of the firm. Ix2
(i1) To ascertain the relative importance of different components of financial position of the firm.
(ii1) To identify the reasons for change in the profitability or financial position of the firm. -
(iv) To judge the ability of the firm to repay its debt and assessing the short term and long term marks
liquidity position of the firm.
33

(a) Q. Calculate Gross Profit Ratio from ......
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Ans. Gross Profit Ratio = Gross Profit x 100
Revenue from Operations

Credit Revenue from Operation =Trade Receivables Turnover Ratio x Average Trade Receivables
=6 x2,00,000
=%12,00,000

Then, Revenue from operations = Cash revenue from operations + Credit revenue from operations
X = x/4  +12,00,000
X = 12,00,000 x 4/3

Revenue from Operations or x = ¥16,00,000

Cost of Revenue from Operations= Average Inventory x Inventory Turnover Ratio
=8 x 1,60,000
=%12,80,000

Gross Profit= Revenue from operations - Cost of revenue from operations

Now, Gross profit =16,00,000 - 12,80,000

= 3,20,000
Gross Profit Ratio= 3,20,000 x 100 =20%
16,00,000
OR
(b) Q. From the following information, calculate......

Ans Working Capital Turnover Ratio = _Revenue from Operations
Working Capital

Revenue from Operations = Cost of Revenue from Operations + Gross Profit

X = 3,20,000 + x/5
4x = 3,20,000
5
Revenue from Operations or x = %4,00,000

(1/2)

(1)

(1)

(72)

(72)

(72)

marks

OR

(1

(1)
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Working capital= Capital Employed- Non Current Assets
=1,00,000 - 80,000
=20,000 (1)
Now, Working Capital Turnover ratio= 4,00,000
20,000
= 20 times (1)
marks
Q. Read the following hypothetical text...
Ans. Azad Ltd.
Cash Flows from Investing Activities
Particulars Details Amount
L 3
Purchase of Machinery (6,80,000) 4
Sale of Machinery 50,000 :/2 2%)
Purchase of Intangible Assets (1,00,000) [7
Sale of Non- Current Investments 1.00.000
Net Cash used in Investing Activities (6,30,000) .
Cash Flows from Financing Activities
Particulars Details Amount
L 3
Proceeds from issue of share capital 2,00,000 |4 51
Proceeds from 12% Debentures 1,00,000 |4 27%)
Repayment of Bank Overdraft (5,000) 1)
Payment of Interest on 12% Debentures (60,000)
Net Cash inflow from Financing Activities 2,35,000 |
Working Notes:
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Dr Machinery A/c Cr
Particulars Amount Particulars Amount
4 4
To Bal b/d 20,00,000 | By Accumulated
To Gain on sale of Depreciation A/c 40,000 €))
Machinery A/c 10,000 | By Bank A/c 50,000
To Bank (b/f) 6,80,000 | By Bal c/d 26,00,000
(purchase)
26,90,000 26,90,000
Dr Accumulated Depreciation A/c Cr
Particulars Amount Particulars Amount
4 4
To Accumulated Depreciation A/c By Bal b/d 1,00,000
To Bal c/d 40,000 | By Depreciation A/c / Statement
2.00.000 of Profit & Loss 1.40.000
2,40,000 2,40,000 =
marks
PART B
OPTION 11
Computerised Accounting
27 Q. How many logical values can be entered into......
1 mark
Ans (a) 255
28 | (i) Q. From the following a legend can be......
1 mark
Ans. (b) Anywh
(b) Anywhere OR
OR
1 mark
Q. Which of the following are the five pillars....
Ans. (b) Data, People, Procedure, Hardware, Software
29 (i) Q. Absence of data items is represented.....
1 mark
Ans. (d) Null Value
OR

OR
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(ii) Q. The process of comparing input....

Ans (d) Data validation

1 mark

30 Q. from the following identify....
1 mark
Ans. (d) Payroll accounting sub-system
31 Q. Differentiate between ‘Generic software’ and ‘Specific software’ on any three bases.
Ans. Difference between ‘Generic software’ and ‘Specific software’ (any three):
Bases Generic software Specific software
(i)Nature of business Small, conventional Large and medium business 1x3
business
(i1) Cost of installation Low Relatively high
(iii) Expected level of secrecy | Low Relatively high
(iv) No. of users and their Limited As per specification
interface 3
(v) Linkage to other Restricted Yes marks
information system
(vi) Adaptability High Relatively high
(vii) Training requirements Low Medium
32 | Q. Explain the following two features......
(i) Simple and integrated
(ii) Accuracy and speed
Ans (i) Simple and Integrated
1%
e Designed to automate and integrate all business operations. (17%)
e Accuracy in information along with latest information.
e [t has multilingual and Data Organisation capabilities to simplify all the business +
processes of the organisation easily and cost effectively.
(i1) Accuracy and speed (1 7%)
e Provides user-definable templates (Data entry screen or forms) _
e Which leads to accurate and fast data entry of the transactions. 3
e It helps in generalising desired documents and reports. marks
33 Q. Explain the accounting group of ¢ Current Liabilities’.
Ans. Account group ‘ Current Liabilities’ consists of:
1 x4
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(i) Data and taxes: Under this head all duties and taxes that you collect or pay through sales service and
purchase transactions.

(i1) Provisions: All provisions made for meeting the future liabilities such as provision for tax, proposed
dividends, etc.

(ii1) Sundry creditors: Are all trade creditors/ suppliers and creditors for expense.

(iv) Other current Liabilities: place all other current liabilities like employee contribution for Employees
State Insurance/ Provident Fund/ Tax deducted at source, etc.

OR
Q. Give the meaning of the terms (i) Labels, and (ii) Values as used in spreadsheets

Ans. Labels : (text) are descriptive data such as names, months, usually include alphabetic characters.
Excel aligns text to left side of the cell.

Values: (Numbers) are generally raw numbers or dates.

e  Whole value: If the data is a whole value, such as 34 or 5763, Excel aligns the data to the
right side of the cell.

e Values with a decimal: if the data is a decimal value, excel alogns the data to the right side
of cell including decimal point- example.

marks

OR

0y

(17%)

(17%)

marks

34

Q. Name the financial function which returns accrued......

Ans. The name of the financial function is ACCRINT.

Its syntax is

ACCRINT (issue, first _interest, settlement, rate, par, frequency, basis
calc_method).

Where

Issue: is the security’s issue date.

First_interest: is the security’s first interest date.

Settlement: is the security’s settlement date. The security settlement date is the date after the issue date
when the security is traded to the buyer.

Rate: is the security’s annual coupon rate.
Par: is the security’s par value. By default par is 1000.

Frequency: is the number of coupon payments per year for annual payments.
Basis: is the type of day count basis to use.

marks
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